BOBO AND THE PAPER BOY
Bobo was walking down the street one day minding his own business when he saw a boy delivering newspapers.  He asked the boy how much it cost for a subscription.  

"I charge each customer $5 per week," said the paper boy.  "Would you like to start delivery of the paper?"

Bobo liked to read the news so he agreed to the subscription.  However, in the spirit of probability, he offered the paper boy a choice.  

"You can either take the usual $5 per week or you can choose two bills from this bag as payment for the week," offered Bobo, showing the boy a paper bag.  Inside the bag were one $10-bill and five $1-bills.  Bobo told the paper boy that if he chose to pick two bills out of the bag, he would need to keep being paid that way from then on.  Of course Bobo would replace the bills taken from the bag before the paper boy picked again the following week.

Which is the better choice for the paper boy, the $5 payment or picking two bills from the bag?   Analyze this problem with any two of the following methods:  simulation (use at least 50 trials), area model, tree diagram, or organized list. 






